C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 3 6
adding the remainder. X X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 19 2@ |3
1) 839+2=419r1 2) 312:6=16212 4
5.
6.
7.
3 619+9=123r4 4) 824+9=091r5
8.
9.
10.

) 608+9=67r6

7) 231+3=4671

9 419+-4=104

6) 650+3=216r1

8 541+7=7712

10) 472+9=52r4
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
7/ Division problems can be 263+ 8=32r7 182+6=2915
checked by multiplying the - 29 1 correct
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. not
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3 not
1) 839:2=419r1 419 2 312:6=6212 62 4. __correct
x 2 x 6 5. not
838 372
+ 1 + 2 6 not
839 374
7. not
3 619+9=123r4 123 4) 824+9=91r15 91
*x 9 x 9 s  correct
1107 819
1111 824 o correct
5) 608+9=6716 67 6) 650+3=216r1 216
x 9 x 3
603 648
+ 6 + 1
609 649
7) 231+3=46r11 46 8) B41+7=T7712 77
x 3 x 7
138 539
+ 1 + 2
139 541
9 419+4=104 104 10) 472+9=52r4 52
x 4 x 9
416 468
+ 0 + 4
416 A72
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